#### CONFIDENTIAL

#### KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

CRIGINAL

Form ACC-1 September 1999 Form Must Be Typed

### WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

Operator: License # 30606	API No. 15 - 025-21493-0000
Name: Murfin Drilling Company, Inc.	County: Clark
Address: 250 N. Water, Suite 300	SW - NW - NE Sec. 22 Twp. 30 S. R. 22 East V West
City/State/Zip: Wichita, Kansas 67202	550 FNL feet from S (Circle one) Line of Section
u • • · · · · · · · · · · · · · · · · ·	2600FEL feet from E W (circle one) Line of Section
Control Control Forman Leon Rodak	Footages Calculated from Nearest Outside Section Corner:
Phone: (316) 267-3241 CONFIDENTIAL	, (circle one) NE SE NW SW
Contractor: Name: Murfin Drilling Company, Inc.	Lease Name: FVB Well #: 2-22
License: 30606	Field Name: Wildcat
Wellsite Geologist: Wes Hansen	Producing Formation: N/A
İ	Elevation: Ground: 2364 Kelly Bushing: 2375
Designate Type of Completion:	
New Well Re-Entry Workover	Total Depth: 5427 Plug Back Total Depth: N/A
OilSWDSIOWTemp. Abd.	Amount of Surface Pipe Set and Cemented at 688 Feet
Gas ENHR SIGW	Multiple Stage Cementing Collar Used?
Dry Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth setFeet
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from
Operator:	feet depth tosx cmt.
Well Name:	Drilling Fluid Management Plan PANT 4-21-10
Original Comp. Date: Original Total Depth:	(Data must be collected from the Reserve Pit)
Deepening Re-perf Conv. to Enhr./SWD	Chloride content ppm Fluid volume bbls
Plug BackPlug Back Total Depth	Dewatering method used
Commingled Docket No	•
Dual Completion Docket No	Location of fluid disposal if hauled offsite:
Other (SWD or Enhr.?) Docket No	Operator Name:
01/01/10 01/11/10 01/12/10	Lease Name: License No.:
01/01/10	Quarter Sec TwpS. R 🗌 East 🗌 West
Recompletion Date Recompletion Date	County: Docket No.;
INSTRUCTIONS: An original and two copies of this form shall be filed with the Kansas 67202, within 120 days of the spud date, recompletion, workover information of side two of this form will be held confidential for a period of 12 107 for confidentiality in excess of 12 months). One copy of all wireline logs at TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged wells.	r or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. 2 months if requested in writing and submitted with the form (see rule 82-3-and geologist well report shall be attached with this form. ALL CEMENTING Submit CP-111 form with all temporarily abandoned wells.
All requirements of the statutes, rules and regulations promulgated to regulat nerein are complete and correct to the best of my knowledge:	te the oil and gas industry have been fully complied with and the statements
iorem and complete and correctly the best contributioning.	
Signature: HEID	KCC Office Use ONLY
ritle: Leon Rodak VP Production Date: 0/16/10 1074	Letter of Confidentiality Received
yen 1/1	If Denied Yes Date:
Subscribed and sworn to before me this day of home	Wireline Log Received
20/2	Geologist Report Received GRATU
Notary Public Pu	UIC Distribution was SCOT
COCUMICA COCUMICA	If Denied, Yes Date:  Wireline Log Received  Geologist Report Received  UIC Distribution  APR 20 2010  APR 20 2010  CONSERVATION ON SECULOR CONSERVATION ON SECULOR CONSERVATION ON SECULOR CONSERVATION ON SECULOR CONSERVATION OF SECULOR CONSERVATI
Date Commission Expires: 4/11/JOII	TANKANA.
	CONSE MCL.
	•

Operator Name: Murfin Drilling Company, Inc.				Lease Name: FVB Well #: 2-22				2		
Sec. 22 Twp. 30	S. R. <u>22</u>	Eas	st 🗹 West		y: Clark					
INSTRUCTIONS: Shot tested, time tool open temperature, fluid reco	and closed, flowing very, and flow rate	g and shu s if gas to	t-in pressures, surface test, a	whether sl long with t	hut-in pro	essure reached	static level, hydro-	static pressur	es, bottom hole	•
Drill Stem Tests Taken (Attach Additional Si	heets)	ØY	′es □No		✓ Log Formation (Top), Depth and Datum				Sample	е
Samples Sent to Geold	ogical Survey	Vγ	′es □ No		Nam	ie.		Тор	Datum	
Cores Taken Yes No Electric Log Run Yes No (Submit Copy)				KC						
List All E. Logs Run:						SEE ATT	ACHED LIST	APR	1 9 2010	
Electronically E- Dual Induction, Microresistivity		d Poro:	sity,					COA	IFIDENTI	AL
		Repo		RECORD		w Used	ion etc			-
Purpose of String	Size Hole Drilled	Si	ze Casing	Wei	ght	Setting Depth	Type of Cement	# Sacks Used	Type and Per Additives	
Conductor		20"				80	Common	11 yds	- Notites	<u></u>
Surface		8 5/8				688	250 Lite/100 Comm	350		
Purpose:	Depth	T _	•			JEEZE RECORD				
Perforate Protect Casing Plug Back TD	Top Bottom	туре	of Cement	#Sacks	i Usea		lype and Pe	arcent Additives		
Plug Off Zone							<del></del>			
Shots Per Foot	PERFORATI Specify	ION RECOR	RD - Bridge Plug Each Interval Per	s Set/Type			cture, Shot, Cement			epth
					· · · · ·					-
TUBING RECORD	Size	Set At		Packer A	<b>Lt</b>	Liner Run	Yes No			
Date of First, Resumerd f	Production, SWD or E	Enhr.	Producing Met	_	Flowing	g Pumpir	ng Gas Lift	Othe	er (Explain)	
Estimated Production Per 24 Hours	Oil	Bbls.	Gas	Mcf	Wate	er Bi	bls. Ga	as-Oil Ratio	Grav	vity
Disposition of Gas	METHOD OF (	COMPLETIC	<u>1</u> ОN	1		Production Inter	· vaļ			<del></del>
Vented Sold (If vented, Subn	Used on Lease		Open Hote	Perf.	. 🔲	Dually Comp.	Commingled			

		FVB #1-22 560 FSL 800 FEL Sec. 22-30-22 2362' KB						
Formations	Sample Tops	Datum	Ref	Log tops	Datum	Ref	Log Tops	Datum
Waubunsee	3697	-1322	+3	3674	-1299	+26	3687	-1325
Heebner	4355	-1980	+34	4360	-1985	+29	4376	-2014
Brown Lime	4523	-2148	+38	4531	-2156	+30	4548	-2186
Lansing	4557	-2172	+36	4546	-2171	+37	4570	-2208
Stark	4871	-2496	+50	4901	-2526	+20	4908	-2546
Marmaton	4983	-2608	+55	5025	-2650	+13	5025	-2663
Pawnee	5077	-2702	+46	5106	-2731	+17	5110	-2748
B/inola	5250	-2875	+29	5261	-2886	+18	5266	-2904
Mississippi	5285	-2910	+23	5281	-2906	+27	5295	-2933
RTD	5427	-3052			•		5428	
LTD				5440	-3065		5428	

KCC APR 1 9 200 CONFIDENTIAL

RECEIVED KANSAS CORPORATION COMMISSION

APR 2 0 2010

CONSERVATION DIVISION WICHITA, KS



24 S. Lincoln Street P.O. Box 31 Russell, KS 67665-2906

Voice: Fax:

(785) 483-3887 (785) 483-5566 PROD COPY

Invoice Number: 121162 Invoice Date: Jan 1, 2010

INVOIC

Page:

BIII To:

Murfin Drlg. Co., Inc. 250 N. Water STE #300 Wichita, KS 67202 APR 1 9 2010

CONFIDENTIAL

operator Pay

Customer ID	Well Name# or Customer P.O.	Payment Terms		
Murfin	EVB #2-22 M Q O	Net 30	Days	
Job Location	Camp Location	Service Date	Due Date	
KS1-01	Medicine Lodge	Jan 1, 2010	1/31/10	

Quantity	Item		Description	Unit Price	Amount
100.00	MAT	Class A	Common	15.45	1,545.00
2.00	MAT	Gel		20.80	41.60
16.00	MAT	Chloride	•	58.20	931.20
250.00	MAT	ALW		14.80	3,700.00
63.00	MAT	Flo Seal	ıl	2.50	157.50
350.00	SER	Handling	g	2.40	840.00
40.00	SER	Mileage	: 350 sx @.10 per sk per mi	35.00	1,400.00
1.00	SER	Surface	•	1,018.00	1,018.00
390.00	SER	Extra Fo	ootage	0.85	331.50
40.00	SER	Pump Ti	ruck Mileage	7.00	280.00
1.00	EQP	Rubber	Plug	113.00	113.00
1.00	EQP	Insert		158.00	158.00
	Ac	3600	OR W 3569 1868. 05 (3680.53	Description  Jumpn 5.	
ALL PRICES AS	RE NET, PAYABL	<u> </u>	Subtotal		10,515.80
	OWING DATE OF		Sales Tax		352.25
INVOICE. 11	12% CHARGED	╼╼╌┼┸	Total Invoice Amount		10,868.05
	IF ACCOUNT IS		Payment/Credit Applied		
	KE DISCOUNT OI		TOTAL		10,868.05
\$ 368	0.53			RECEIVED ISAS CORPORATION COMMISS	ON
		1			·/\/

ONLY IF PAID ON OR BEFORE
Jan 26, 2010

APR **20** 2010

CONSERVATION DIVISION WICHITA, KS

3680.53

7,87.52

## ALLIED CEMENTING CO., LLC. 037088

REMIT TO P.O. B		NG 4 G 474	· •		SER	VICE POINT:		
- KUSS	ELL, KA	NSAS 676	65			medi	cine look	
10	SEC.	TWP.	RANGE	CALLED OUT	ON LOCATION	JOB START	JOB FINISH	•
DATE /-/-	ZZ_	1303	ZZW	110:00 Am	1:30 <u>p.m</u>	10000	$\sqrt{1}$	
LEASE FVB	WELL#	2-22	LOCATION Kin	ngadawa, Ka, F	53.46.	COUNTY	STATE (	•
OLD OR NEW CH	rcle one)		13. 1/2w,	1943, 1.3 W	•			
CONTRACTOR	<u> </u>	O. #E.	•	•		_		
CONTRACTOR TYPE OF JOB S	11 10c	+in Z	2	OWNER 47	Wrtin_k	Zcill.in	9	
HOLE SIZE	12 4	T.D	690	CEMENT				
CASING SIZE	පුර	8 DE	PTH (090'	AMOUNT OR	DERED 2505.	<u> </u>	:6+32cc	
TUBING SIZE	•		PTH .	+ 14#Flo-	Seal. 100	SKA+3	% CC/2200	√.
DRILL PIPE TOOL			PTH PTH_			<del></del>		
	300		NIMUM	COMMON C	1655 19 100	na 154	5 1545.00	
MEAS. LINE			OE JOINT 42	POZMIX				,
CEMENT LEFT IN	1 CSG.			GEL			2 41,60	
PERFS. DISPLACEMENT	4757	2 1215 T	resh HZD	CHLORIDE _ ASC			0 431.20	
DIOI EXCEMENT		JIPMENT		ALW,	250	-@- <u>74.5</u> /	3700,00	
	EQ	DILMENT		Flo-Sun			137.50	
PUMP TRUCK (	CEMENT	FR	Oak C.					
#360-265						_@		
BULK TRUCK	-		_			_@		
#421-251	DRIVER	Ron	G2					
BULK TRUCK	DRIVER					@		
<del>"</del>	DIGITER			— HANDLING _				
	DE	MARKS:		MILEAGE		401.10	- 1400,00	
22- 62	_		0.44	_		1014	L <u>8,615,3</u>	
13 F 69 P 100			12:(c, 20m		SERVI	CE		12000
+ 4 to-s	هما، ٨	סו גיר	Sx Class AT	3200				KCC
+2/bgelig	واومد	· plug.	<u> Dize wlt</u>	DEPTH OF JO				APR 1 9 2010
100 avec 6			B. Bung p		CHARGE		18.00	APH
Cement d			FIDEN OTCH	MILEAGE	AGE <u>390</u>		<u>331.5で</u> <u>280.00</u>	CONFIDENTI
Plus DIVI			10 not Bu	MANIFOLD _				00.
, –								
						_@		
CHARGE TO:	മ്പപ്	in De	<u>::Hinq</u>				11 00 -	
STREET			7			TOTA	L 162950	
CITY	rz	'AT'F	ZIP					
-		/\.L		·····	PLUG & FLOAT	r equipme	NT	
					<u>,</u>			
••				1- Hubbon	a plug	_@ <i>_//3/</i>	0 113.00	•
The Allie LCL				[-4/13ec	<u>-</u>	_@ <u>_</u> _@ <i>_</i> T⊃ <u>≬^0</u>	0 158.00	-
To Allied Cement You are hereby re			nantina avviama					
and furnish cemer	-		~			_ @		
contractor to do w		•					_	
done to satisfaction						TOTA	L <u>271,00</u>	RECEIVED
contractor. I have				0 1 1 F C 12 17 17 17	c			KANSAS CORPORATION COMMISSIO
TERMS AND CO	ONDITIO	NS" listed	d on the reverse s	side. SALES TAX (I	ı Any)			ADD 0.0 0040
				TOTAL CHAR	GES			APR <b>20</b> 2010
PRINTED NAME_				DISCOUNT		IF PA	ID IN 30 DAYS	LIDER CATION ON HOLON
ارا	100	1 .	1 -	<u>å</u> .	9			CONSERVATION DIVISION WICHITA, KS
SIGNATURE	illy	Wil	son					<del>, ,</del>



24 S. Lincoln Street P.O. Box 31 Russell, KS 67665-2906

Voice:

(785) 483-3887

Fax:

(785) 483-5566

INVOICE

Invoice Number: 121198

Invoice Date: Jan 12, 2010 1

Page:

Bill To:

Murfin Drlg. Co., Inc. 250 N. Water STE #300 Wichita, KS 67202

KCC APR 1 9 2010 CONFIDENTIAL

Customer ID	Well Name# or Customer P.O.	Payment Terms			
Murfin	FVB #2-22 / 11	Net 30 Days			
Job Location	Camp Location	Service Date	Due Date		
KS1-03	Medicine Lodge	Jan 12, 2010	2/11/10		

Quantity	item			Description			Unit Price	Amount
126.00	MAT	Class A	Common			15.45	1,946.70	
84.00	MAT	Pozmix				8.00	672.00	
7.00	MAT	Gel					20.80	145.60
210.00	SER	Handling				ļ	2.40	504.00
40.00	SER	Mileage :	210 sx @.1	0 per sk per mi			21.00	840.00
1.00	SER	Rotary P	lug				1,017.00	1,017.00
40.00	SER	Pump Tr	uck Mileage	e			7.00	280.00
		Account	Unit	W No	Anunt		Description	
			1,3	Nc Nc		50	Description  Pro	
		Account 03600	٦٠٠	Nc Nc	9 5691.	78	Description PM	
			1,3	Nc Nc		78	Description PM	
			1,3	Nc Nc	9 5691.	78	Description PM	
			1,3	Nc Nc	9 5691.	78	Description PA	
I PRICES AS	DE NET PAVAR	03600	1,3	Nc Nc	9 5691.	78	Description  PMA	5,405.30
	RE NET, PAYABI OWING DATE O	03600	022	" Nc	9 5691.	78	Description  PA  RECEIVED	5,405.30 286.48

CURRENT, TAKE DISCOUNT OF

ONLY IF PAID ON OR BEFORE Feb 6, 2010

Payment/Credit Applied APR 2 0 2010 TOTAL

CONSERVATION DIVISION

5,691.78

# ALLIED CEMENTING CO., LLC. 043079

	ELL. KAI	NSAS 676	65			Medica	ineldgets	
DATE 01 12 10	SEC. 22	TWP.	RANGE 22 w	CALLED OUT	on Locati	ON JOB START	JOB FINISH 53014	
			11	, , ,	- 4 1 /	COUNTY,	STATE KS	
LEASE FVB	WELL#	Z-22	LOCATION K	ngs da wn <sub>I</sub> CS,	55, 45, 15, 1	zw Clark	<u> </u>	•
OLD OR NEW (Cir	rcle one)		17/45, W/in	to 1. 3 mile	.5			
CONTRACTOR /	Murtin tary Pi	#22 !va		OWNER	Mun	fin		
HOLE SIZE 77/8		<u> , T.D</u>		CEMEN	T	10 10	110 1101 1	
	3 3/3		<u>ртн <i>688</i> —</u>	AMOUN	کے CRDERED	(Dax 60)	40:4% pd	
TUBING SIZE DRILL PIPE 4//	<u> </u>		PTH PTH / \$//)	<del></del>				
TOOL			PTH				- 40	
PRES. MAX 200	2	MI	NIMUM -	СОММО	N 126 A	@_ <i>_/5</i> .4	13 1946 -	,
MEAS. LINE		SH	OE JOINT N/	POZMIX	<u>84</u> .	×_@ <b>&amp;_</b> =	672	
CEMENT LEFT IN	CSG.			GEL		@ <i>_20</i> _:	- 145 -	
PERFS. DISPLACEMENT	Face	4420 \$	Dailling M	CHLORII ASC	DE	@ @		
DIGI DI CELIE		JPMENT	,	1.00				
	EQU	74. 144.251 4 1		****		@		
PUMP TRUCK	CEMENT	ER P. C	- lia			@		10000
		S. Pais		<del></del>		@		KCC
BULK TRUCK			-7	<del></del>		@ @		APR 1 9 2010
# 364	DRIVER	R. Gill	ey			@		WALL 2 COLO
BULK TRUCK	DRIVER	Ĺ	/					CONFIDENTIAL
#	DRIVER				NG <u>210</u>	@ 2.40	<u>504 = </u>	AA
144.				MILEAG	E2/0/-19	<u> </u>	<u> 340 = 30</u>	
~ // A	RE:	MARKS:	11100	V 7.1	·	TOT	AL 4108 30	
Daill Pipe Fresh HYD space W/3 BAIS Fresh	nt 191 n.Mix 42) \$	0, load 50sx6 13% 8	ttole, Pump Ol 0:40 caneat, 6/s Mud. Dru	1. 1861s Disp. :11 Pioe	SE	ERVICE		
at 720, Long	HoTe, Pu			7. <i>50</i> регтн с				
emat Dipu/3	Frus 4	/ m . /		20/4 < PUMP TI			7	
44e,111X 4USX		Dispu	Cement Dil C	EXTRA I	OOTAGE BE <i>40,</i>	@_ <del></del>	280 50	
Plan Rot Hole				Le w/20 MANIFO	1D 4/2	@_ <del>_Z-</del> @		
1449.154.1512	7	,,	, , , <del>,</del> ,	- 7 · · MANIFC	10.24			
						@		
CHARGE TO: 1	Junfin	1					<b>-</b> ~	
STREET						тот	AL <u>/297 -</u>	
CITY								
CIT	51	AIE	ZIP	<del></del>	PLUG & FI	LOAT EQUIPM	ENT	
***					10//	@		
				\ <del>\</del>	N//	@	<del></del>	·
To Allied Cemen	ting Co.,	LLC.		_12				
You are hereby re					/	@	<del></del>	
and furnish ceme								
contractor to do v						тот	AL	
done to satisfaction contractor. I have								
TERMS AND CO					'AX (If Any)		<del></del>	
15(4.15111.15 0	011211				CHARGES _			RECEIVED
DDINTED MARKE								KANSAS CORPORATION COMMISSION
PRINTED NAME			. 4	DISCOU		IF I	PAID IN 30 DAYS	ADD AA AA
SIGNATURE Z	1000.	11),	hon	*.				APR <b>20</b> 2010
SIGNATURE 1	ricy	-000						CONSERVATION DIVISION